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Toduy coe do one examyle on induction -
TTheore . Let S be the of odered Pinibe sequences of pasitive
integers thal sum do . Tor example

S, =3}, =31, &®F,

5,=%3,11), 4,2), (D), (.

“Then +he number of elemeits in S, is ZYH.
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ln cther cords , There are Zn conys 1o eXPrEss N

S On onlerecl sum 09 eYos,'-'n've. brl‘eaefs.

. (e use induckion on n.
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As are have seen _1=Z(Li)§ Hence IS |=41=2
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tht is , assume that 3, has 2 e,lemexrl:s

We shos thit each element of S, cAenenCLts +eso elements
& S
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We %enem‘l?ﬁ too elemeits of 8k+| as Rollocos .
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& the seqrence loa 1 «afeiJ ) 9% ) Q) A 1)
This is an elemedt of Sh+| Since

O+ -+ Ayt (O\M-r\) = 0\‘+~~-+O\h—r| = k+l.

“The O‘H\er‘ e,lemen'lT (S 30{\%175'7&1 l> 3 Ot??én oll‘f\g a 1 OCL' ‘H\Q
end of the Sequence 4 (ﬂa‘dcl a,,0,,-4,,1) - “This (3

also an elemedt of Sh-n'

Next ce sheo that ﬁOLL\ e,lmen"z O‘P Sk—\-\ CONS %eznm‘lfeo‘

Prom one element of S, - Lt Cbl, b ) be an element of
Siul '

. B EM-_-_i , then s:@rlg eliminate l”h\ From the Seclmence.
In ths case Cbp""l’m) AV 6cnem‘|7cl loa CL(""”"M-DGSI-.‘
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Since every element of Sk 86"%{_6 +too  elements
is Shl , Sh has tesice as Mnﬂ ejeme,yj:s aS 8

By the induchive L\a?rﬂ\ess . there ore 2 ' elements In S, .
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Thus, ther ave 2x2 -_-2 elements s S TRE. |




